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The book Collapse: How Societies Chose to Fail or Succeed by Jared Diamond is about many societies from the past that have fallen or “collapsed.” When comparing Diamond’s view on past collapse’s to a well-known quote from the novel The Go- Between by L.P. Hartley, a clash in the two author
’s views is present. The quote says: “the past is a foreign country; they do things differently there.” Through Diamond’s book, he discusses the collapse of past societies such as the habit
ants of Easter Island, the Mayan’
s, China, and Australia. As Diamond desc
ribed the situations of these societies, he went into great detail about the reasons for their failures. Diamond touched on societies from the past that have fallen, Easter Island and the Mayans; and he also touched on present societies, China and Australia. For the past societies Diamond discussed how and why they collapsed, and for the current societies discussed how they could collapse. However, through all of these points Diamond succeeds in showing how from past mistakes, our world can prevail and dodge the possibility of a collapse. 

Easter Island, a past society, had many issues
; one being over population. The island of Easter Island was very small, only consisting of about sixty square miles.  One way to create enough room for all the inhabitants on the island was by cutting down tre
es. The result of the act leads to the inability to survive on the island. Although the inhabitants put the cut down trees to good use, the tiny shrubs that were left were not enough for the people to survive. Also since the island was so distant from neighboring countries, with one being thirteen thousand miles away, the help of close societies was difficult for the continued survival of the Island. 

Another society that collapsed was the Mayan
’s. One major issue for the Mayans was over population and climate changes. Since there were so many people on the small piece of land, the need for food was very strong. When their climates changed from a wet period to a dry period this created agricultural issues. Due to their inability to adjust to the climate change and other economic issues the Mayan
s eventually failed similar to the people of Easter Island. 

Although Diamond goes into great lengths to tell the mishaps of these societies, he does not believe that these unfortunate collapses are simply events from the past; and we have now grown to never make these mistakes again. Diamond’s opinion is that we can take from these past experiences and learn from them. The consequences, however, from ignoring these mistakes would be the collapse of our society. 

Easter Island did not survive due to the scarcity of trees, and the people in our society still cut down thousands of trees each year. This should be a warning for how many trees our society cuts down and do no replace. In the eyes of Diamond, the past is no different than the future because we still make the same mistakes, one being cutting dow
n. We are also experiencing climate changes, one of them being global warming. These are events that happened in the past and have aided in the collapse of failed societies. Although these have occurred previously and the people handled the issues different than our world, th
ey can still cause our world to collapse. There are people today who are attempting to prevent these issues from making a large impact on our society, but just these few people are not enough. In Diamond’s opinion due to our quick development and lack of responding to our destruction of the society, “the world’s environmental problems will get resolved,” it just might take longer than everyone expects (Diamond, pg. 498). 

My reaction to the quote was very similar to Diamond’s. I feel that our past mistakes can be fixed at some point in time within the next few generations; it just may take a while. Until then, we should make the effort to help our world head in a better dire
ction. 

Since the first Earth day in nineteen seventy we have come a long way with our “environmentally safe” decisions, but not enough people join in on these decisions to make a great enough impact. An example would be recycling. Although it is known that recycling plastic and other products such as cardboard could go a long way to help our environment, some homes and restaurants do not recycle. This choice or “mistake” that homes and restaurants have made can affect our environment in a big way. In the past, the people of Easter Island, the Mayan’s and habitants of other fallen societies were not aware of the necessity of recy
cling. Since we have the advantage of knowing the importance of recycling we should take advantage and help our world head in the right direction. 

The people of Easter Island and the Mayan people made many mistakes that lead to their collapse, and societies today such as China still make similar mistakes. China is currently trying to prevent over population. Their government has set a “mandatory fertility control” on the people to help stop over population sooner rather than later (Diamond, pg. 360). One of the major reasons for China’s need to maintain a strong environment is because of their large economy, population, and area. If their economy were ever to experience a downfall, it is guaranteed that China’s environmental problems would eventually spill over onto the rest of the world (Diamond, pg. 358). Due to the loca
tion of China, the reality of their economic issues actually affecting the rest of the world’s economy is greater than most other countries. However, this decision of fertility control has lead to China having “eighty million more households than it would otherwise have had” (Diamond, pg. 360). This decision of putting a cap on the amou
nt of people allowed in a family seemed like a promising idea for their economy; but, having that many more households fu
ll of people was not part of the plan. Decisions like this can be fixed, but only if the people take actions to correct the mistakes they made. If someone does not fix the mistakes and the world remains oblivious to the issues that are taking place, then more issues could arise. Unlike China, other societies are experiencing issues that are out of their control. So while China can begin to fix one problem that can attempt to be fixed, other countries are left to face concerns that are out of their reach.

The Australian environment is another society that has been experiencing issues throughout the years. However, the difference between China and Australia is Australia’s issues are out of human contr
ol. The Australian’s environment falls into the five point fame work factors that Diamond has identified all throughout the book. These factors being: environmental damage, climate change, hostile neighbors, friendly trade partners, and the society’s response towards environmental problems. All of these factors relate to Australia in ways that will harm their society; but, due to Australians new radical way of thinking they are beginning to pull themselves in the right direction. 

Australia is known to be “the most unproductive continent” (Diamond, pg. 380). The reason for Australia’s reputation of being unproductive is due to its soil. Due to past rain falls that have leached the soils of their nutrients, Australia has been left with soil that produces the lowest plant growth (Diamond, pg. 380). There are three different ways for Australia’s soil to be renewed, the first way being volcanic eruptions. However, only a small part of Australia “[has] had volcanic activity within the last hundred million years” (Diamond, pg. 380). The second way of renewing resources is by grinding up glaciers and then “[re-depositing] the earth’s crust” which will hopefully deposit fertile land (Diamond, pg. 380). Then again, Australia has not seen glaciers in any part of the continent except for one percent (Diamond, pg. 380). The last possible way of renewing the resources for Australia would be through the slow uplift of crust, which can bring about new soils. This method also proves to be useless for Australia because only some areas of Australia “have been uplifted within the last hundred million years” (Diamond, pg. 381). As one can tell, Australia’s land has yet to be renewed since none of these processes have been able to provide significant differences to help the soil. 

Another factor that takes away from Australia’s lack of nutrients in their soil is inconsistent rainfall. Due to the scarcity of rain their soil is even more impossible to farm without irrigation (Diamond, pg. 383). For many continents to survive, being able to use the lands resources is very helpful. However, when rain is scarce, agricultural issues form; and then follows economic problems that are out of human control. 

Lastly, Australia’s “perception of actual and potential overseas enemies has” helped “[shape] Australian environmental and population policies” (Diamond, pg. 379). Meaning, although Australia has yet to be invaded by neighboring countries, they are prepared for what could come at them. The Australians also understand the need to obtain imports to help with “environmental impacts” (Diamond, pg. 379). Although others do not understand the reason for Australia’s imports, the Australians are thinking of ways that help their society in a way that will not cause them to become part of the fallen societies. 

The Australians today are recovering from past problems that have led their lands to be unproductive and have suffered from climate changes that have affected the land. Also, Australia has to deal with potential enemies like all other continents in our society. The formation of allies has and will also help the Australians to survive with recours
es they cannot produce for survival. These many obstacles that Australia has to face have affected the way of life for the Australia
n’s; however, “Australia’s prospects for solving those problems give…hope” to their society (Diamond, pg. 379). So, even though the Australians are succumbing to many environmental issues that could cause a collapse of their society, the way they are handling these issues is the reason they are staying afl
oat. 

Overall, I feel that the problems in the world today are results precisely from the fact that we have not, and do not, make up for our previous mistakes. Also, as we move forward with technology we create even more problems. Although these problems are “unintended negative consequences of our existing technology” we still need to be responsible for the issues we have created (Diamond, pg. 505). Some of these issues being air pollution and using up many of our nonrenewable resources. The United States have come up with laws that attempt to protect our environment. The creation of these laws however will only be effective if the world listens. Also, creating more environmentally friendly products all around the world would help many societies survive in our fast declining world. Therefore, I do feel we can change our ways and become enlightened enough to be able to help our world overcome the idea of a collapse; as long as we change our old habits. 
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